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Problem solving - mixed problems (2] 1) 4 bag of balloons contains 5 red and 3 blue balloons.
0 ce creams ore sold in boxes of 3 or boxes of 5. @) How many balloons in 6 bags?
Kate buys the following ice creams. T ‘
There are ] balloons in 6 bogs.
/A _‘ H R b) Reena needs 80 balloons for a birthday party.
How many packs does she need to buy?
How many ice creams does she buy in total?
-] 1 |

-0 Reenaneeds tobuy [ Jpocks.

Kt buys (e creoms i toto. @ Pters o ot boes of 5.
Mrs Dean has 3 boes of rulers. 2

Mr Jones has 4 boxes of rulers.

€ oot contin 5 cppls and  pcrs. e e
Thereare 7 bosets R atogerner

How many more pears than apples are there?
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There are more pears than opples.

They hove [ Jters atogines
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© Workoutthe mising numbers.

Use @ bar model .
o help you.

10 2995 and a slice of toost cost 60 pence.

2 eggs and 3 slices of toast cost 46 pence.
Work out the cost of an egg.

The ot anegg s Jpence
Reflect

A box contains 5 yellow counters and 3 blue counters.

There are 6 boxes of these counters.

Explain two ways you can work out the total number of counters.




